80 1AL-VEHmLABEEE

o - A TN E T
(L B fF I8 L i
e aRION=ED 1)1 R L
() =
2 H 8.61 1000 T ‘/f,_,//
14 & & 22.50 8.00
2 2 I 1631 | g 6.00 -
3 B 1 13.66
4 11 Vit 13.48 400 -
5 & 1773 13.32
6 18 3 1330 | g 200
7 B iR 1304 | ™ 0.00 , |
8 H 12.71 ' F
9 % ﬁ 12.68 13 14 15 16 18
10 #5 b/ N 12.38 =EE
"na ) 1216 | ® S
12 [ il 12.11
138 & 12.03 T =
14 2= B P | #itT—42 | .
158 1101 | # EE EEE z &
16 & [E 10.76 FERk13 8.56 7.69
17 W m| 10.61 TERk14 8.86 7.83
18 & R 10.44 FERk15 9.07 8.04
9 EREBE 1004 | ® %16 9.36 8.23
20 18 = 9.94 FERR17 9.63 8.44
21 ¥ P 9.86 ERk18 9.94 8.61
2 & g 9.66
22 & 1 9.66 15 B B £ E
24 Ihs 1= 9.47
25 &= F 944 | g |HTHAE%
26 & 57 9.31 (AT th #5100k 24 1=1)) 24.82 76.80
27 ,;I; f/f% 9.01 (FM) (414:1)
28 o2 8.73 | .
29 8 [l 8.38 =
30 5 B 8.31
314 H 821 | ..
32 % 137 7.99 7R AEK
33 % = 7.96 (AT Hh E #5100k 2 7=1)) 16.33 61.64
34 W 795 | _ (F|  (40fiL)
35 = ) 7.66 =
36 &% [if] 7.56
37 & yll 7.47
38 = g3l 6.95
39 HE X 6.90 BT AT R A R
40 = 0 6.49 BN A FRI1943H318
41 1% £ 6.34 | & | -AERAH 85
42 F Fr W 6.09 CEH AR BHARSER A DB
43 F = 5.92
44 1E =] 5.91
45 K B 519 | &
46 M Z= I 474
47 = B 4.05




	80

